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1. 2.
F =(2x+3)(5-Xx)—(2x+3)? F =(2x+3)(5-x%)—(2x+3)?
F = (10x-2x? +15-3X) — (2X+3)(2X + 3) F=(2x+3)(5-x) - (2x+3)(2x +3)
F =—2x% +7x+15—(4x* + 6x+6x+9) F=(2x+3)(5-x)-(2x+3)]
F = —2x2 + Tx+15-4x? ~12x—9 E f(§X+§’)(53‘ X‘ZZX‘?’)
F =—6x’ —5x+6 =(2x+43)(=8x+2)
3. (2x+3)(2-3x)=0
2x+3=0 o 2-3x=0
2X=-3 -3x=-2
X:-E | X:g
2 3
sl M —g 9 g
2 3
4.x=3,
F=—6x32-5x3+6=—6x9-15+6=-54—15+6=—63.
, F=-63
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a. .2

Aire (ABCD) =(x +4)2.

Aire (ABCD ) = Aire (AEIH) + Aire
(EBFI) +
Aire(HIGD + Aire(IFCG)

" F Aire (ABCD) = x2+4x+4x+42
4
C(x+4)? =x*+8x+16 1 (x +4)2 =
X2+4X+4X+42=x2+8x+16
D G C g\i‘]\;}.é-\

103°=(100+3)2=1002+2x 100 x 3+ 32=10000 + 600 + 9 = 10 609

3. (a+b)®: (a+b)(a+b)=a2+ab+ba+b?=az+2ab+ b2



(a-b)* :(a-b)(a-b)=a2-ab—ba+h2=az-2ab+b?
(atb)(a-b)=a?-ab+ba-b2=a2-b?

2.102x 98 : (100+2)(100-2)=1002-22=10000 -4 = 9 996

(a+b)2= a2+2ab+h? ; (a-b)2=a2-2ab+b* ; (a+b)(a-b)= a2-b2

(x+5)* =x* +2xxx5+52= x2+10x+25 ;

(x=3)? =x2—2xxx3+3% = ;
(X=7)(x+7) =x2—72 = |x* — 49

3@,,0.’:5\
X=1s x=3
Ca) 3% (3x) b) (X + 22 ; X2+ 4 ¢) (x-52 , x2-25
x=1 x=1 x=1
3x2=3x12=3 (X+2)2=(1+2)2=32=9 (x=5)2=(1-5)2=(-4)2=16
(Bx)2=(3x1)?=32=9 X2+4=12+4=1+4=5 X2—25=12-25=1-25=-24
Xx=3 Xx=3 Xx=3
3x2=3x32=3x9=27 (x+2)2=(3+2)2=52=25 (x-5)2=(3-5)2=(-2)2=4
(Bx)2=(3x3)*=92=81 X2+4=32+4=9+4=13 | x2-25=32-25=-9-25=-16

2°) a) 3x% # (3x)? b) (x + 22 # x2 + 4 c) (Xx-5)2 # x2 -
25
3°)
(2x)2=2x % 2X = 4x 2 (ab)2= ab x ab 2x8a = 16a
(5x)? = 25x 2 (—3x)2 = 9x? —3x2y = -6y
64a2=(8a)? 6X = 2 x 3X 8t=2x 4t
48y = 2x 24y L 169y2= (13y)?
—t = -
4 2 X( 2] 16 , |(4 2
—u=2x|=U , EW = EW
3 3 ( 2 ) 4,
—=V| =|=V >
—2x7v=-14v 3 9 Ty=2x 3V
“t_ o, L]
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4@,)4::“
(X+5)2=x2+2x Xx5+5% = [x2+10x+ 25| ; (X=2)2=X2—2xXx2+22=

(s 4 = 4 2xx 4 2=




(-7 -y =(-7)2=2x(-T)x y+ y2 = |49+14y + y2 = y2+14y + 49|
(2x—9)2 = (2X)2—2x 2xx 9 +92 = |4x2 —36x + 81

(=x+7)2=(—Xx)2+2x(—X)x 7+ 7%= |x2-14x + 49
(5x+1)2=(5x)?+2x5xx1+12=|25x2+10x +1| ; (12x—-1)?=(12x)?2-2x12xx1+1%2=

144x2 - 24x +1|
(9-x)2=92-2x9x X+ X2 = |81—18x + X2 = x2—18x + 8]

(24+3%x)2=22+2x2x3x+(3X)2=4+12x +9x2=|9x2 +12x + 4

(2y —1)2=(2y)?—2x2yx1+12=|4y2 -4y +1] ;
(6+Yy)2=62+2x6xy+y> =36+12y+y2=y2+12y+36
(-X=5) = (-X)? 2% (-X) x5+ 52 = [x2 + 10x + 25

(8x +3)2 = (8X)2+2x8Xxx3+32 = 64x2+ 48X +9|

(z-5)2=22-2x2x5+52=722-102 + 25|; (7Tx—3)2=(7x)2-2x7Txx3+32 =

49x2 — 42X + 9

(-3x—2)2=(-3x)?—2x(-3x)x2+22= |9x2+12x + 4

(-5x—3)2 = (-5x)2— 2x (-5x) x 3+ 32 = [25x2 + 30x + 9|

1°) (x=3)(x+3) =x2-32=[x2-9|; (2x+5)(2x—5) = (2x)2—52 =|4x2 — 25

2°) (y-T)(y+7)=y*-72=[y2-49] ; (3-x)(@B+x)=32-x=[9-x]
(x+%)(x—%]:x2—@] = xz—é ; (2x+3)(2x—3) = (2x)? - 32 = [4x2 -9

oo laooad - [(2xa )2 1)(2,) (1)

(2—3X)(2 +3x) = 22— (3x)? ; (3x+4j(3x 4) (3xj (4)
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a)(x+5)%=x2 +10x+25; b)(y-1)?=y2-2y+1; c)(z+4)?=122+82+16;

d(nN+7)(N-7)= n2-49; e)(3x+4)?=9x?+24x+16; f)(4x-5)°=16x>-
40x + 25

6 (oo
312-(30+1)°=302+2x30 x1+1%=900+60+1 =961
212-(20+1)2=400+40+1= 441 ; 19%= (20-1)2=400-40+1=361
19%x21=(20-1)(20+1)=400-1=399 ; 89%=(90-1)2=8100-180+1

=7921



912-(90+1)2=8100+180+1=8281
1=28099

2012 =(200+1)2=40000+400+1= 40401 ; 1992=(200-1) =40 000-400
+1=39601

. 91x89=(90+1)(90-1)=8100-

[EY
(\/E+1)2:(\/E)2+2><\/Ex1+12:2+2\/§+1:‘3+2\/§‘
(V3-2)? = (V3)2—2x3x2+22=3-43+4= 7-4y3
(275 +4/3)2 = (24/5)2+ 2x 24/5x 3+ (/3)2 = 4x 5+ 4415 +3=20 + 44/15 + 3=
23+ 4415
(3v2-2V2)* = (J2y =2
(V5+3)(¥5-3)=(52-32=5-9="-4
(BV7 —2)(3V7 +2) = (3J7)2-22=9x7-4=63-4 = 59
(=545 +/2)(-54/5 —/2) = (-55)2 - (+/2)2 = 25x5-2 =125—-2 = (123
8&,@.’.’5\

A=15x—(x+7)? B = x(x—-1)2—(x—2)?

A =15x — (x2+14x +49) B =x(x2—-2x+1)—(x2—4x+4)

A=15x —x2—14x — 49 B=x*-2x2+Xx—x2+4x—-4
A=—x2+x-49) B =x*—3x2+5x—4]
C = (x+2)(x=2) +(x +1)2 D = (x+3)2 - (x-2)?
C:X2—4+(X2+2X+1) D:(X2+6X+9)—(X2—4X+4)
C=x2—4+x2+2x+1 D=x2+6X+9-x2+4x-4
‘C=2X2+2X—3‘

1) (x ?
E:[X'i'E] —[E'i'l] F:(X+y)2_(x_y)
1 (e [F =x2+2xy+y2—x+Y|
E:(x2+x+—]—[—+x+1]
4 4
XZ

E=x2+X+———-x-1

E :£X2_1X2+£_£
4 4 4 4
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1.
D =[(Bx-1D(2x+5)]-[(Bx-1)?] 5
D= [6X2+15X—2X—5]—[9X2—6X +1] D= (3X—1)(2X+5)—(3X—1)2
gf6>3‘2jlf;“56‘9xz+6x‘1 D = (3~ 1)[2X+5-3x +1]
= D = (3x—1)(~x+6)
11 d-,{;a:l\

1.
E =[(2x-3)?]-[3(2x - 3)] 2.

2
E =[4x2-12x +9]—[6x —9] E=(2x-3)" -3(2x-3)
E=4x2-12X+9—-6X+9 E =(2x-3)[(2x-3) - 3]
E =4x2-18x+18 E=(2x-3)(2x-3-3)

E =(2x-3)(2x-6)
3.
(2x-3)(2x-6) =0
2Xx-3=0 s 2x-6=0
2x =3 2X=6
X = § Xx=3
2

- 3 |

Pl > 3 > Ol
4.

X =2

E=422-18x~/2 +18 =4x2-18J2 +18 = 182 + 26



